50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or €quations written eg, 42+8

g S
) naine e’fn_;{:;\\

USN
Time: 3 hrs. /. Max. Marks:100
Note: I. Answer any FOUR‘%uﬂﬂuesttonsfrom 0. No‘ 0 7.
2. Q.No. 8 is compulsary,
1 a ‘ ¢ (03 Marks)

weight using i) Geometric mea
Weights (/bs) |* I@O 135 | 140 | 145 146,5,, 148 149 | 150 | 157
No of persong%_ 4 6

(07 Marks)

¢. Goals scored by two teg@s Aand B ina footbalT»season were as shown in the below table.

By calculating the: %efﬁment of Varlatlon 1n eaoh case, find which team is more consistent:
e "R | No of matches
& A team | B team
27 17
9
6
5
3 Lo P (10 Marks)
2 a. List the measures of central tendency Also: gwe%pghelr uses. P (03 Marks)

b. Calculate Spearman S rank correlation .coefficient between advertlsement cost and sales

from the followin ___g data: : ;
Ad cost ('000 Rs.)
Sales (lakhs Rs.)

12519813678
60 | 91|51 | 84

(07 Marks)
¢. From the data given below ﬁnd
i) (The'two regression coeffici
ii)  The two regression ec >
111) " The coefficient of correlation between: the marks in economics and statistics.

; The most likely marks in statistics‘'when marks in economics are 30.
Marks:in Economics | : 25 128135[32[31[36[29[38|34]32
Marks in statistics [<43 |46 49|41 36|32 [31[30[33]39

» (10 Marks)
3 a. The follonnng table gives the age listribution of a group of 50 individuals:
Age (in years) | : 16-20 | 21-25 | 26-30 | 31-36
No, of persons: 10 15 17 8
Calculate range and the coefficient of range. (03 Marks)
b. What is correlation? Explain the types of correlation. (07 Marks)

c. From the following table calculate the coefficient of correlation by Karl Pearson’s method.

x|6]2[10]4]8
v {91 1L 3807
Arlthmettc means of x and y series are 6 and 8 respectively. (10 Marks)
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a. (ultlple regre551ons (03 Marks)
b. Compute the seasonal mdex for the following data assumwg “that there is no need to adjust
the data for the trend. Mg (07 Marks)

Quarter [ 1990 [ 1991 [ 1992 | 19_33 1994 ] 1995

1 3.5°1° 335 ; 4.1 | 4.2

2 39 | 4.1 44 | 4.6

3 34 | 3.7 4.2 | 4.3

4 3.6 | 4.8% 4.5

c. A systematic sample of 100 pages was.t en from the Oxford Dictiohary and the observed
frequency distribution of foreign wor per page was found to be follows:
No. of foreign words per page (x): /2 131415

Frequen '"‘(f) 7141111

(10 Marks)

variable. z % (Y (03 Marks)
b. The average test marw a particular class is 79. The standard deviation is 5. If the marks

are distributed normally, how many stude%s in a class 0f 200 did not receive marks between

75 and 827 4 Py ?;7

Given: P(O Lz& .7) =0.2580 P(0< z‘*ﬁ ) =0.2881 P(0<z<.6)=0.2257

Where %‘? tandard normal variable. » (07 Marks)
c. The fol %%mg table shows the age’*w}strlbutlon of persons&rﬁl/‘a particular region:

Beldg%v 20

Below 60 -~
Below 70 (h. © 155 %/
70 ando@ﬂﬁé 4 1;6 P
i)  Find the median age o~ : &)
ii) Why is the median a more, Suitable measuﬂ@gﬁ Rgentral tendency than the mean in this
Masé'? (10 Marks)

\
a. %Four cards are drawn aéz r@ﬁdom froma p c%"*gf 52 cards. Find the probability that:
, They are a king, 4 queen, a Jack a ace
i)  Two are kings atld two are aces’ P
iiiy All are dlamo@%ds {5 (03 Marks)
b. What is time's serles analysis? Explam the uses of it. (07 Marks)
c. A projects ﬁas;%the following activities:

- Activity; ¢ 1-21-3|1-4]2-5[3-5]4-6]|5-6

Duratt@n?’(days) 2 il 1 g ko ]k
i)  Draw the network-diagram
ii)  Find critical path and total project duration
iii) Find earl1eptv start time, latest start time, earliest finish time and latest finish time.
(10 Marks)
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a. What are looping and dangling errors in network? X Wiy (03 Marks)

b. Find the basic feasible solution for the following transpQ ortati n problem using VAM:
~Destination | | ™ Sy
Origin
A 4 50

13,

(07 Marks)
c.
(10 Marks)
a.
Supply
500
300
200
1000
(10 Marks)
b. Use the graphical method
Maximize Z = 40x; + 8@&
Subject to Constramts% -
(10 Marks)
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